








































Select the JR (6 1/2") pigtail assembly wires, 1
1/4" tubing clamps and associated hardware as
shown in Figure 11. Expand the 1 1/4" clamps
slightly and slip onto the 1 1/4" tubing near the
FDE insulators. Position the tubing clamps flush
with the insulators and secure to the tubing using
1/4" - 20 x 11/4" bolts, lockwashers and nuts
(Item Nos. 36,39 & 38). Slip one end of a pigtail
assembly over each 1 1/4" bolt and secure using
another lockwasher and nut. Route the pigtail up
and over to the feed strap. Secure the pigtail
wires to the feed strap using #10-24 x 1/2" bolts,
lockwashers and nuts (Item Nos. 41, 46 & 44).

Attach the BN-86 balun to the boom, as shown
in Figure 11, using the U-bolt and #10-24 nuts
and lockwashers. The balun will be tipped to one
side in order to line up with both feed straps.
Attach both feed straps to the balun using 1/4" -
20 x 3/8" and lockwashers. Tighten all bolts
securely.

Measure the length of the assembled support cable
and turnbuckle for each side. The lengths should
be within + \ -1/2". Allow approximately 10-12
inches of wire to tie off the turnbuckle late, as
shown in Figure 12. Attach the chain link (Item
No. 74) and mast strap (Item No. 76) to each
turnbuckle as shown. Install the 3/8" x 2" bolt,
lockwasher and nut in each half so that they will
be available after the antenna has been hoisted to
the top of the tower. Also, tighten the turnbuckle
so it will not vibrate loose. Route both cables
above all elements and tape near the boom-to-
mast bracket so they can be reached
after the antenna has been mounted on
the tower.

Boom Support

Select the 2" I.D. boom support clamps (Item
No. 78) and the boom support straps (Item No.
77) and assemble on the boom 100" from the
center of the boom-to-mast clamp as shown in
Figure 12. Tighten the bolts securely.

Select the 20 foot boom support cable and cut
into two equal lengths with a large pair of wire
cutters. Attach one end of each cable to the boom
support straps using the thimbles (Item No. 75)
provided. See Figure 12. Attach turnbuckles
(Item NO. 73) to the opposite ends of the cable as
shown.
































	P0000001.bmp
	P0000002.bmp
	P0000003.bmp
	P0000005.bmp
	P0000006.bmp
	P0000007.bmp
	P0000008.bmp
	P0000009.bmp
	P0000010.bmp
	P0000011.bmp
	P0000012.bmp
	P0000013.bmp
	P0000014.bmp
	P0000015.bmp
	P0000016.bmp
	P0000017.bmp
	P0000018.bmp
	P0000019.bmp
	P0000020.bmp
	P0000021.bmp
	P0000023.bmp
	P0000024.bmp
	P0000025.bmp
	P0000026.bmp
	P0000027.bmp
	P0000028.bmp
	P0000029.bmp
	P0000030.bmp
	P0000031.bmp
	P0000032.bmp
	P0000033.bmp
	P0000034.bmp
	P0000035.bmp
	P0000036.bmp
	P0000038.bmp



